
 1 

 
 

Item # | Product Name:   #300097, 301012 & 300098, Post Attachment 2”, 3” and 4” Pipe Sleeve 
Kit 
 

Parts List: Tools Needed: 

1.  301104 Qty 1, 2” Sleeve, 301002 3” Sleeve or 
301110 4” Sleeve 

1. Ratchet and short extension 

2.  300389 Qty 1, Post Attachment 2. 9/16” socket 

3.  300252 Qty 1, Hardware bag 
Contains: 3/8 x 1 ½” bolt, qty 1 
                3/8 x 1 ¼” bolt, qty 3 
                3/8 washer qty 4 

3. Rubber Mallet or Hammer (Optional) 

4. 4. Silicone spray (optional) 

5. 5. 

 
 
Assembly Instructions: 
 

Installing the post attachment and sleeve in the Wave Dock.  The 2” sleeve is designed to fit 1 ½” pipe 

which has an OD of 1 7/8”. The 3” sleeve is designed to fit 3” pipe which has an OD of 3 ½”.  The 4” 

sleeve is designed to fit 4” pipe which has an OD of  4 1/2”. 

 

Determine where the posts will be placed according to the dock layout.  It is recommended to place a post 

about every 15ft and at any inside and outside corners of L-shapes. 

 
1. Slide the post attachment into the channel on the side of the dock. Silicone spray may allow the post 

attachment to slide easier. It may be necessary to use a mallet or hammer to get it to slide.  Align the 

threaded insert in the post attachment with the slot in the dock at the desired location.  Secure with the 

3/8 x 1 ½” bolt and washer. 

 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

Slide arm into 

hole in the deck 

Align threaded 

insert with slot 

Theaded insert. 



 2 

 
 
 
 
 

2. Align sleeve with threaded inserts in the post attachment. Set into place with the sleeve down inside the 
post attachment and secure with the 3/8 x 1 ¼” bolts and washers. 

       
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

3” sleeve shown 

3/8 x 1 ½” bolt 

and washer 

Completed installation. 2” bushing shown. 

3/8 x 1 ¼” bolts and washers 

Threaded insert. 


